CS 4100 Artificial Intelligence – Spring 2012

Classification Tree Learning Practice Problem
	Company Name
	Blinking Text
	Animation
	Pictures of People
	Purchase

	A
	NB
	S
	NP
	Yes 

	B
	NB
	N
	P
	Yes 

	C
	NB
	L
	P
	No

	D
	NB
	N
	NP
	No 

	E
	B
	S
	P
	No 

	F
	B
	S
	NP
	No 


The hypothetical data set above represents information describing visits to different companies' e-commerce web sites. The data includes features of the web site, and whether or not a purchase was made during the visit.

Apply Classification Tree Learning (the ID3 algorithm) to express this data as a classification tree, using Blinking Text, Animation and Pictures of People to predict whether or not a visitor will make a purchase.

The values indicate blinking text is used (B) or not used (NB), and pictures of people are used (P) or not used (NP). The values for Animation indicate lots of animation (L), some animation (S), or no animation (N).

TABLE of Logarithms base 2 (for your convenience)
	p
	Log2 p
	p * Log2 p 

	1/2
	-1.0
	-0.5

	1/3
	-1.58
	-0.53

	2/3
	-0.58
	-0.39

	1/4
	-2.0
	-0.5

	3/4
	-0.415
	-0.31

	1/5
	-2.32
	-0.46

	2/5
	-1.32
	-0.53

	3/5
	-0.74
	-0.44

	4/5
	-0.32
	-0.26

	1/6
	-2.58
	-0.43

	5/6
	-0.26
	-0.22

	1
	0.0
	0.0















































































































